BiEE

=m1=s0tk
= RPN o N .
¥ STWARFUYT
L
== ¢50 65 75
QEi] -BF & (RBLAHR) -EafEAG
HE=
z
T
Y
L
D
E !“‘
HIRNEE
HT-50GNB,M20 X 40 ‘
W
[T
2
HT-75GNB,M20 X 40
HERKBRO LR A—ITT,
O 2 T B - - I - F e U]
& & = W HinE H IE BetE Bl EvF-lLf| R 0 " o HEEFE FFRfE
D (mm) W (mm) H(mm) T L N (mm) M (mm) E (mm) R (mm) [daN (kgf) ]
HT-50GNB,M16 X 40 M16 2 23
50 28 74 40 25 51 100(102.0)
HT-50GNB,M20 X 40 M20 25 30
FAVEE(EF 1O
L v = g
HT-65GNB,M16 X 40 M16 2
65 93 57 150(153.0)
HT-65GNB,M20 X 40 M20 25
38 40 30 22
HT-75GNB,M16 X 40 M16 2
FAVEEEF 1O 75 107 61 160(163.2)
HT-75GNB,M20 X 40 = #lr o BA) M20 25
T HT-50MC,M16 X 40 M16 2 23
—~+ 50 25 74 40 25 51 100(102.0)
é HT-50MC,M20 % 40 M20 25 30
(0]
RA T/ TR ANADY
B RT/-HAMD
HT-65MC,M16 X 40 M16 2
65 93 57 150(153.0)
HT-65MC,M20 X 40 M20 25
38 40 30 22
HT-75MC,M16 X 40 M16 2
A I/ T-HANHD 75 107 61 160(163.2)
HT-75MC,M20 % 40 B R HAHOBA M20 25
HT-50MCE,M16 X 40 M16 2 23
50 25 74 40 25 51 100(102.0)
HT-50MCE,M20 X 40 M20 25 30
A IVERE -4
B ORI
HT-65MCE,M16 X 40 M16 2
65 93 57 150(153.0)
HT-65MCE,M20 X 40 M20 25
38 40 30 22
HT-75MCE,M16 X 40 M16 2
A VHREE RS 75 107 61 160(163.2)
HT-75MCE,M20 X 40 & R M20 25
HT-65AU,M16 X 40 M16 2
65 93 57 150(153.0)
HT-65AU,M20 X 40 M20 25
38 40 30 22
HT-75AU,M16 X 40 M16 2
HAVTIT 75 107 61 160(163.2)
HT-75AU,M20 X 40 = #LE(BA) M20 25
HT-65PB,M16 X 40 M16 2
65 93 57 150(153.0)
HT-65PB,M20 X 40 M20 25
38 40 30 22
HT-75PB,M16 X 40 M16 2
AT/ 75 107 61 160(163.2)
HT-75PB,M20 X 40 & 7/~ (BA) M20 25
. g 21Xx232/3F
BATIR owxsr

158






